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1. First 15 minute are allotted for tha ents to read the question
paper
2. All questions are compulsor&
3. There are 5 sectionin thw sectionA, B, C,DandE.
4. Section Aand B hav% ks, section Ais M.C.Q. and section B is
very shorttype. 6
5. Section C has s and I-type short type question.
6. SectionD.h arks and Ill- type short type question.
/. Sectio long answer type and each question has 5 marks and
internal
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(i) 10m (i) 1.11m (iv)1.11cm
conductor is 1.0uF Its radius be

me

(a) A capacitance of a spherical

nearly.

(i) 9Km (i) 10m (i) 1.11m (iv)1.11cm
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(i) ol (i) 217 (i) 1w () @211+
Kirchhoff's Currontlaw is a consoquence of the conservation of -
a. o enorgy b momentum ¢ charge  d mass
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Theunitof o/ o is U

a. m/s b. ohm C. henery d. N/IC
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Amirror producing a virtual image larger than the IS

a. plane b.concave  c¢. convex é. lofthese
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Unit of electric field - °$

a. N/C b. C/No ' N.C d. JIC
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Unit of Ele otential.
a. J/Cb b. J.f.
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Write the definition and unit of electric flux. ( |
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How much energy will be spentin 15 minutes in a 5KW electric =

heater?
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Whatis "Lorent, force" ? Write down it's expression. 4 i B
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(d) Write the dimensional formula of electiic potential.
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(e) Calculate the speed of lightin a medium whose critical angle is
30o.
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(fy Whatare "rods" and "cones’in human eye?
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(a) Explain with examples the differiénce bet’ween"\éhmic and n@
ohmic resistances.
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(b) Derive the relationship between drif velocit& electric

current.
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What is capacitor. Define the capacita a capacitor.
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Explain the arrangement ies and parallel combination of
capacitor with the hel ram. L&”? ,
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(a) Two,p arge +9e and +e placed ata distance of 16cm from
each'6thér where should achargeq be placed between them so
thatitisin equilibrium ? ’
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(b) Establish the relationship between potential gradient and
electric field intensity.
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(¢c) Discribe the behaviour of a dielectric medium when place:
between the plates of a parallel plate capacitor. oe
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(d) The ratio of lengths and masses of three wires of same materia
are 3:2:1 and 1:2:3 respectively. Find the ratio of resistances oi

these wires.
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(@) 5 ma current is flowing in a wire. Calculate t
electron passing per minute from the cross sec
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(a) An object 0.05m high is pla dlstance of 0.5m from a
concave mirror of radius of ture 0.2m. Find the position,
nature and size ofthe im ed.
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(b) What is hyper pia and myopia ? Give a brief description of
it's caus wis itremoved ?
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(¢) Write the Kirchoffs law and write in which principle of
conservation this law exist.
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(@ Calculate the equivalent resnstance between point A and B for

the below circuit.
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Derive an expression for electric field intensity due 10 uniformly

charged spherical shell at a point (1) out side (2)onthe surface ®
(iii) inside the shell. o

OR 9
Define electric dipole ? Derive the formula for electric @eﬂ lal ata
pointonthe axis of an electric dipole.
o geag T,f%erfm?aﬂ@zrmﬁmﬂ%? TP
IRSFAR zﬁmmsﬂﬂ?ﬁﬁwmm \

g 0O

Whatis m@/ the drift velocity of free electron's deduce ohm's law
on the basis fthe principle of electron drift velocity.

OR

State the principle of potentiometer. In a potentiometer arrangement,
5 cell of emf 1.25V gives a balance point at 35.0 c.m. on length of
wire. Itthe cell is replaced by another cell and the balance point shifts

to63.0c.m., Whatis the emfofthe second cell.
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Show that the magnetic field due to current  carying condycto of

i O ! (Sins +Sino,
finite lengthis B = %: - (Sind 5)
' OR

ght strikes a glass (n = 3/2) sphere of 20cm

of li :
A parallel beam other side of the sphere ?

diameter. Where will get focussed on the
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A 194 H Inductance, 10
connected in the series . .wi
calculate the lmpedancq

dissipation. 0
O o

Calculate tho@tial difference between a and b of the below figure.

pacitor and 25Q resitance are
A.C source V = 282 sin 100t volt
e circuit, i rms current and rate of heat
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